4

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

REVISTONS

DESCRIPTION DATE DWN APVD

A INITIAL RELEASE

140072016 | YO |[CW

NOTES:

TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC

16X M3 SCREW,RECOMMENDED RATED VOLTAGE: 500V
TIGHTENING TORQUE 0.5Nm RATED CURRENT: 16A
16X M3#% ###E4150  5Nm INSULATION RESISTANCE: >-400MQ)
RATED IMPULSE VOLTAGE: 6KV
f* POLLUTION DEGREE: 3
FLAMMABIL ITY: UL94V-0
1 B MATING CYCLES: 500 CYCLES
: WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWG|4)
3 = [ > CONTACT TYPE: SCREW CLAMP (M3)
o
™ T
{ | AR
psgmH . PC
4% M3 SCREW,RECOMMENDED TIGHTENING TORQUE 0.5Nm wEwE: 500V
4X M3B#z #FHEAHE0 . DNm Hrem: | 6A
wgwE - >=400M0)
M4 SCREW, RECOMMENDED TIGHTENING TORQUE I|.2Nm gzzif gKV
MAgs gHsEAE | . 2Nm asen . Ul o4y -0
| BHA%: 500 %
> 08. 9 - @B’ 1.2 3 46 6 7_8 4$;7r #AEE: 0. 5mm2~2. 5mm2 (AWG20-AWG | 4)
0 | 0 BuAR . BuEgE (M3)
FaIn Fan e C P A\ N - ] L o~
@ » @ { prooorororomoxd ) - |
— ‘ — u&ﬂ\gww\gﬁjﬂ\gﬂ/w\g
ﬁi T — ¢t ——-— - o = é@E:ﬁ%{Lfa 10 11 12793 14 15 18 1
— ‘ — | GOLD PLATED CONTACTS
¢ i a, L 71.5 4 #anT
] o . |HE-016 FEMALE INSERT,GOLD PLATED
| T2040162211-000 | HE-016-F6 | e 0 1¢ gg g
17,5 PART NUMBER PART DESCRIPTION
% 2 4 i
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 140CT2016
PANEL CUT FOR INSERTS FOR USE _{ORK CHENMOCTEOM _—TE TE Comnectivity
W ‘ THOUT HOODS/ HOUS ‘ NGS DIMENSIONS: TOLERANCES UNLESS KYLE ZENG h—
MM R 3P 50 B K4 o S T FLA OTHERWISE SPECIFIED: APVD 140CT20106 |nName
mm CHRIS WANG HE-016-FG
0 PLC +- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 w 47 w 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERIAL ] FINISH ] WEIGHT - A300779@:T20401622HOOO _
- - CUSTOMER DRAWING SME P o

1470-19 (3/13)




	Sheet 1
	Views
	new_view_5
	new_view_8
	底部_10
	new_view_11
	顶部_12
	left_13



